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Human brain has about neurons.

(A) 100 billion (B) 60 billion

(C) 100 million (D) 160 million
TIOTD ST ATV 36%9\.@@2’5?\’%352{ TPRODT.

(A) 100 DSOS (B) 60 DO0HT®

(C) 100 e»OoH® (D) 160 0D

Which of this is NOT true with respect to breast feeding ?
(A) Breast feeding promotes the bondage between the mother and the baby.
(B) Breast milk is rich in antibodies.
(C) Breast milk consists of factors which can prevent infectious diseases.
(D) Breast feeding leads to infant obesity.
_gfﬁéw_aﬁ@& Tw’owotsa’égsoé’ RNTE 03T FOOTPDTY ?
(A) _'gfdéw_ad&ocﬁ SOON ITVNT IS motswé £233wﬁ3§d’
(B) 2BZOTE B8T200N0 Tw’ﬁae)%omﬁﬁ.
(O) HTVZIOT Bpcos Zifaeﬂ’r\’%faigl ©3B,I RN,
(D) FZTSOOT dBNFS &ifaz:g aeé%'&@%fggd’.

Which of this is the beginning stage of research ?
(A) Identification of research tools.
(B) Survey of related literature.
(C) Identification of research problem.
(D) None of the above.
Ho3ReHE T,3,0300D TToHT TOT 035 ?
(A) =o3pepmo YUTTTEONT I, TOTOSHTITD.
(B) moo®s m&%a’ T-JS)JG'U; SBRORHI.
(C) =o3nepmo QITWONTTY, TOTLSEIRY) .
(D) BoeSS BeRT OSOYTR WY
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4.  The baby follows this sequence of development :
(A) Turns to side, creeps, crawls and stands with support.
(B) Crawls, turns to sides, creeps and stands with support.
(C) Stands with support, crawls, turns to side and creeps.

(D) Creeps, stands with support, crawls and turns to side.
TN 3FTEINO30 85 WDITNTY T3

(A) ﬁamz%%a%ga", 3=3%083, @odMmOmIE Tore B30 T3 AeRIT.
(B) ©ouimORIE, DrHusARIE, SSDHI3, 850 Bw3 eI,

(C) 70 B3 JeRI3, wordmORDIT, HTHLTRNISE, IBWIT.

(D) 3BT, BGIOTE FEIOPAOT LRI, WoLMPODITH, HOLERHIT.

5. Matching Item :

Agency/Programme Beneficiaries
1. NIPCCD 1. Women
II.  Bharat Scouts and Guides 2. Adolescents
III. NOAPS 3. Widows
IV. SHG/DWACRA 4. Children
5.  Aged
Codes :
)| o 1 1v
(A) 2 4 1 3
B) 4 2 5 1
< 3 1 5 2
D) 4 3 2 1
BROTIIT K.
ToR / odeews TN
I. NIPCCD 1. T FOITY
II. gPpTs* ﬁa&ési ﬁaé_% 7‘3)7.36; 2. DO BTDTID
III. NOAPS 3. DT3ONTD
IV. SHG/DWACRA 4. ﬁaﬁﬁ%
5. :Tg)dda
)
IpeEt
)| o 1 1v
(A) 2 4 1 3
B) 4 2 5 1
< 3 1 5 2
D) 4 3 2 1
Space For Rough Work
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6.

The most detrimental quality of a research is

(A)
(B)
©
(D)

Spirit of free enquiry
Reliance of observation and evidence
Systematization or theorizing of knowledge

Making generalizations and drawing quick conclusions

Fodeegm SBoHT TR T I THe oIPYIoT3

(A)
(B)
©
(D)

QIITE / VP ODT STRELD BT

é’)eis;s-a" TITIR TP, S0T

259 VeI, BTN TN ﬂe@oéémﬁ NTRSET T
é’)?ﬁoﬁ)ﬁ@lmﬁg%ﬁ%%@m TONN ST T SCTE D :%’T?Zﬁ:'&ra@é%@d:.

Which one of the following pairs is NOT correctly matched ?

(A)

(B)

©
(D)

Experimental research is a type of research carried out — to solve an immediate
problem.

Action research is a type of research carried out — to solve an immediate
problem.

Longitudinal research is a research carried out for — a long period of time.

Cross sectional research is a type of research carried out — across different age
group to study the same objective being tested.

B3 YN 03593 el BOOIPN BROWIITOIPNY ?

(A)

(B)

©
(D)

22030eNT FoBReFIosn 2,000 Dedod T‘«)’O§JD€Z§£OSTaﬁZ3£ — 3%:);@63’
T‘«J’ﬁ)%ﬁ%’?}& WRTOFCD 83 AlADIEN LI IRl g vicial

(Action research) 3,035953908 FOBRCF 2,00 DeS0D HoBREFVOIDNTR —
33,200 RDANIT WTOTLD 83 DT WIRLRTOIE.

Longitudinal research Q0T3 — QEFFE FTIWTETT &I ROBREHS.

€:9CC'9; Q2INEO (Cross sectional) FOBRCHERN NOTT — NG SODRT TOOTTRY
DIFOTO, 2,000 VWO BFODTTYN WIART THOBRCFT NPO.
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8.  Assertion (A) : Alcohol consumption during pregnancy can lead to fetal alcohol syndrome

because

Reason (R) : Alcohol is a teratogen which can influence or interfere with or damage a
child’s growth.
(A) Both (A) and (R) are true and (R) is the correct explanation.
(B) Both (A) and (R) are true, but (R) is not the correct explanation.
(C) (A) is true, but (R) is false.
(D) (A) is false, but (R) is true.

B2as (A) : T\’mga‘é’oﬁe} ﬁacﬁgﬁ@ﬁ£ SEYRO0x  fetal alcohol syndrome
YVOEITHIER. BEF, TITEROTT

5002 (R) : mzsé@ 200N &d@a’msa’mﬁzﬁg OO 23PN #0ees @Cg DOHON
Ao

(A) (A) @orie (R) 2TB> BOOIPAE, T (R) BO03RE ACRTBOSRAT.
(B) (A) @onte (R) 2T BOSRAS, 833 (R) BO0SRE HE0BoDY.

(C) (A)BBO3PAS, T3 (R) STNE.

(D) (A) 3mNB, 8IS (R) FOMWE,

9.  Which one of the following pairs is correctly matched ?

(A) Article 24 — prohibits employment of children below the age of 14 years in
factories, mines or any other hazardous occupations.

(B) Article 20 — prohibits trafficking of human beings.

(C) Article 29 — prohibits trafficking of human beings.

(D) Article2 - prohibits employment of children below the age of 14 years in
factories, mines or any other hazardous occupations.

B3 FYTOTYHNTYE 03503 RecRod Bweodd FOONT ?

(A) ©Bed 24 (Article 24) —— 14 JREMONOZ BAD TODIF  WEW
TAREINTY, NANYE Tone AT BTOHTIO FINFY FUR TRRYTI
RT3,

(B) To% 20 — SR sgmnBobRy ARHDIT.

(€) 8ToR 29— FRS FgFMBODTY ARHDIT.

D) 2BeG 2 —— 14 IREMDN0Z TR TOPAT 0T TAREINT, NEAN
TN I ©IOHFO FYNYE FUT FR@ I IRHTIS.

Space For Rough Work
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10. Four distinct stages of children’s cognitive development were identified by

(A) Kohlberg (B) Erikson
(C) Skinner (D) Piaget
DNT 2IFTANOD SDIS6N &é"’% TOBNFTY MOTISATRTO
(A) Bezfunts (B) 203"z
©) A30° (D) 203w

11. Arrange the prenatal changes in the sequence :

I.  Implantation II.  Conception
III. Quickening IV. Child birth
Codes :

(A LIV,ILII (B) HOL LIV, II
(©) ILL O 1v (D) UL IL L IV

RIS TPTE TOSNYTY, ROOINT WDTTNTE Qek.
I. mnyie 3@3?\’@3&&@
II. nejemoTs
I 226z 020y (Quickening)
IV. 0MAT 23

I~
(A) LIV, ILIII B) IIL LIV, II
© ILLILIV (b) IILIL I, IV

12. Dyslexia is associated with

(A) Mental disorder (B) Mathematical disorder
(C) Reading disorder (D) Behavioural disorder
@ﬁ@om WOW3
(A) To3T @R;Téé’ (B) Nw3a B’é’)@oﬁa@ Tw’ab?%
(C) Loy a’tﬁ@ Tw’ﬁ)?% (D) 3533@'@053@2 Tw’ﬁ:?%
Space For Rough Work
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13.

14.

15.

Which of the following is not a family crisis ?

(A) Bereavement (B) Divorce

(C) Desertion (D) Insomnia
83 é’%fﬁﬁ@n’%f@ O330) T FED0NT 23)%”&@,3% ¥ ?

(A) dA3een (B) é’)zﬁ)@dﬁ

(C) 3RToNPI (D) 3@80@33

Down’s syndrome is a chromosomal disorder characterized by
(A) one extra chromosome (B) one less chromosome

(C) no change in chromosomes (D) two extra chromosomes
TOTE, ROTERLTHT 2.0TH T[0Tt BFI0T WHHZOIPNE ATTY

(A) 20T WRT ToZwad Tk WIHIT

(B) 20T 3R [oJeadh AT

(C) [0Be3%bnY RoadoDd WEeRms Aty HY
(D) T B0 [0S0 A

Arrange in the correct order of APGAR score.
(A) Appearance, Polio, Grimace, Activity, Reflex.
(B) Activity, Pulse, Grimace, Attention, Reflex.
(C) Attention, Pulse, Growth, Appearance, Respiration.
(D) Appearance, Pulse, Grimace, Activity, Respiration.
APGAR @oﬁﬁ@ﬁ@oﬁmd @ﬁaa’@ BRCB.
(A) B33, Fpedodsnre, Grimace, 230e3e33, TISSER.
(B) 36303833, So&n&T, Grimace, MedT, BBTIER.
(C) NDT, ORWRB, 23PN, 3T, LVRATES.

(D) 2333, So&en&3, Grimace, 238303633, QVRTOES.

Space For Rough Work
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16. The fine hair on a neonates body is called
(A) Vernix Caseosa (B) Lanugo
(C) Colostrum (D) Fontanelle
ST 3BT BB 20eOTHT SNTIT FRTOR Sert FB030TYT.

(A) ST, FHRO3RCR (B) enmyrine
©) @@@D@w (D) TooL3Is

17. Fatigue can be reduced by
(1) Use of energy saving equipment
(i) Motivation to achieve goals involved
(11) Appreciation and feeling of satisfaction

(iv) Avoid work

Codes :

(A) (1), (1) (B) (@), (i), (i)

© (), (1), (iid), (iv) (D) (i), (iv), (iii)
BOSIRTTY, FRTNRATALD

() B3 SOPRT YVBITANIRY, LVBOSREARY T
(i) 2.9RROBTHR THONYRY MR BLOR
(iii) o =By FHon P

(iv) 3UROOT SRREPHHI

TodeT ¢
(A) (D), (1) (B) (1), (i), (ii1)
© @, (), (i), (1v) (D) (i), (iv), (iii)

Space For Rough Work
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18. Which of the following statements is true ?

(A) Management enhances efficiency and effectiveness.
(B) Management is concerned only with profit.
Codes :
(A) (A) is true and (B) is false.
(B) (B)is true and (A) is false.
(C) Both (A) and (B) are true.
(D) Both (A) and (B) are false.
033953 BeLINH =D ?

(A) AT THOID BDFE D) TOBIDTOZ TR, BLROTTH.
(B) QTEDEB @02I3, 3598, TOWORAT.

ZodeT :

(A) (A)=D =K (B) 3R,

(B) (B)®D 20 (A) 3F),,

(©) (A) &2 (B) vTER AD.

(D) (A) 3 (B) 30&» 3T,

19. A tool used in the recruitment process to select the candidates is
(A) Job analysis (B) Job description

(C) Job specification (D) Job evaluation
2 RE O, B0, B BT BB000HY WIRUTHES TS

(A) BURT DFe3 (B) 3wR®m A&T

(C) 3urw NRET Aol (D) 3wmm SPUTHRTT

Space For Rough Work
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20. Match the following :

List - 1 List - 11
1.  Agmark a.  Gold necklace
2. ISI mark b.  Jute bag
3. Hallmark c.  Honey
4.  Ecomark d.  Pressure cooker
Codes :
1 2 3 4
(A) a b d C
(B) b c a d
© d a C b
D) ¢ d a b
BROD WD :
@3 -1 @3 -11
& &
. ©nfswsse a. BZB BT
2. R.DRC.D. BN b.  REDT Bew
3. DT c. R,
4.  QIRBPTC d.  FFo® 2go°
Tode :
1 2 3 4
(A) a b d c
(B) b c a d
© d a c b
D) ¢ d a b

21. The recommended height of the work surface for efficient work is
(A) 10 cms below the elbow height
(B) 12.5 cms below the elbow height
(C) 7.5 cms below the elbow height

(D) 15 cms below the elbow height
TENPE TN FUR TRRLD DFTITR R FURT ﬁa@e%a@gd

(A) 10R0.0e. a‘i@sa% DITT I
(B) 12.5%0.c0¢. 300, OTTE 91T
(C) 7.5R0.20¢. a‘i@sa% DITT 3N
(D) 153R0.20e. a‘i@sa% DITT N

Space For Rough Work
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22. Appliances which work with a electric motor for their operation are called
(A) Non-electrical appliance (B) Motorized appliance

(C) Electrical appliance (D) Electronic appliance
3, FIO3IOE WTBN 5)63639 olXion) TR, VT3 RENEDTS YUTTTNT IR

(A) I QBT (B) 0370883 ©0BETH
(©) I BT (D) LTFE YOTTTD

23. The amount of loan sanctioned to a person is dependent on
(A) capacity to repay (B) collateral used
(C) character (D) All of the above
2:2)) BT DOWRTO BT VT TEI0es 03I TT 230¢S WSoDAT ?

(A) TOTEDS BV FOTVFE
(B) ¥R 00T

(C) ISw3

(D) 20O DY

24. Recruitment is the process which is used to
(A) Reduce the manpower in an organization.
(B) Increase the manpower in an organization.
(C) Optimize the manpower in an organization.
(D) Terminating employees.
SeeNTS T30 o@@zﬁi?& WFRRTOZE ?
(A) 20T Tw’of_'goia@ SRVRJTONTY BRTNPETTLD
(B) 2.0m Tw’of_'goia@ TRIBJTONTY £2§%§T@C§®a
(C) eom Tw’of_'goia@ CASDINMOL-{SNVIe eﬂéagﬁaﬁfa%@a
(D) erocﬁ.raéeﬁosaagl T RRPID

Space For Rough Work
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25.

26.

When red orange, blue purple and yellow green are used in a colour scheme, it is a

(A) Complimentary colour harmony.
(B) Triad colour harmony
(C) Split complimentary colour harmony

(D) Analogous colour harmony
305y 339, QO FeTH NI TYO TATY WHATVE TWEIE HOO3RELIROIN

(A) QTG ST Elelostoln
(B) THORTO BT ROOSRCTR
(C) NIRT T[T o3RS
(D) [CBRT e T Bo0SRCB

Which of the following statements is true ?
(A) The form of any object should suit its function.

(B) The form of any object is influenced by the material used.

Codes :
(A) (A) is true, (B) is false. (B) Both (A) and (B) are true.
(C) (A) is false, (B) is true. (D) Both (A) and (B) are false.

RQRNFOT 03053 BePINTD =D ?
(A) O3PYTRE FRNT BTIT WTT FToONEF, O BRHOTTOSTIES.

(B) o3mmpce SRAT S50 DS SHAT hed Zpns D3,

ToFe :
(A) (A)FD, (B) 3 (B) (A) &= (B) wTew ®0.
© A3, (B)=D. (D) (A) R (B) OTER BF) |
Space For Rough Work
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27. Match the following :
List - I List - II

1.  Advancing colour a.  Pink
2. Neutral colour b. Red
3. Tint of a colour C. Green
4. Cool colour d. Black
Codes :
1 2 3 4
(A) a b c d
(B) b d a C
© c a d b
D) d c b a
BROAY 20TAND :
F’J% .| F’J% -1I
1 BWOZEO3NT FE a e
2. 9(36 =S b F0R)
3. &9 =cae c TRATY
4. 30 REE d TR X
Toe3 :
1 2 3 4
(A) a b c d
(B) b d a c
© c a d b
(D) d c b a

28. Which of the following statements is true ?
(A) Ergonomics is a study concerned with Man, Machine and work environment.
(B) Ergonomics is a study concerned only with reducing the stress of a worker.
Codes :
(A) (A)istrue and (B) is false. (B) (A) is false and (B) is true.
(C) Both (A) and (B) are true. (D) Both (A) and (B) are false.
RRNFOT 035953 BePIND =D ?

(A) SRRETWT?, BFONTY), T, 0N0E, TNJY SORTE, ﬁowoqﬁa’@éd’.
(B) @npsmacnss P ODT i?emzﬁwd/emzﬂ,@éeﬁoja 2BBEEDY, BRED BRERTT, 98,
ToBeT :

(A) (A)RD, (B) 3 B) (A) SR, =K (B)®O.

©) (A) &R (B) TERAD. (D) (A) DR (B) QTER 33‘9’)&

Space For Rough Work
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29. Match the following :

List - I List — IT
1. Individual Resource a.  Public library
2. Family Resource b.  Forest

3. Community Resource c.  Skills

4. Global Resource d.  House
Codes :
1 2 3 4
(A) d C b a
(B) b a d c

© c d a b
(D) a b C d

TRODR WI3AWD :
w3 -1 @ - 11
1. a:pmgsﬁ HOBIN,L 2. AIWEWAT NOFPIVOD
2. BEDOU HOTIR,Q b. T
3. ADHATODT WOJIRY ¢ TIBY
4. 25MET HOTZR,Y d. =3
Do :
1 2 3 4
(A) d c b a
B) b a d c

© c d a b
(D) a b c d

Space For Rough Work
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30. Arrange in the correct sequence of steps.

L Review of literature 1i.

iv.  Methodology V.
Codes :
(A) 1, ii, iii, iv, v (B)
(C) iii, ii, v, iv, 1 (D)

TOINY TOOIT WDTFTNTE) LBRek.

Introduction

iii. Results

Summary and conclusion

i, 1, 1v, 111, v

v, v, 1, 1, 1ii

i is:):%n’%f Aretol i SRR iii. FOT0TNLH
iv. Qpos V. AI0203 &3 wHmOD / e
Do :
(A) 1, ii, iii, iv, v B) ii, i, iv, iii, v
(C) iii, ii, v, iv, 1 (D) iv, v, ii, i, iii
31. Arrange in the right sequence.
L Training and Induction ii.  Performance appraisal
i, Salary and Fringe benefit iv.  Recruitment and selection
Codes :
(A) i, iii, iv, 1 B) i, ii, iii, iv
(©) v, i, iii, ii (D) iii, iv, ii, 1
RO0T @@@ﬁade} RBRCR.
i S0ued w0 ReBECE ii. BoODE AVET/BOD AR/RE
i,  Howd T WTHOT LOYINED iV, T T w0,
ToFe :
(A) i, iii, iv, 1 B) 1, ii, iii, iv
(©) v, i, iii, ii (D) iii, iv, ii, 1
Space For Rough Work
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32.  Which of the following statements is true ?

(A) Entrepreneurs are born.
(B) Entrepreneurship can trained and developed.
Codes :
(A) (A) is true and (B) is false.
(B) (B)is true and (A) is false.
(C) Both (A) and (B) are true.
(D) Both (A) and (B) are false.
“&@n’%@ﬁ 0339 BeRINH 7O ?
(A) =83 Qowede wcﬁé&an’%m@é’.
(B) wdéﬁaéee)é’oia@l 3oded NN wi)%@oﬁaoa’ TV TBUTON.
ToIeS :
(A) (A)RD, =3 (B) 3R,
(B) (B)RO, 3 (A) ),
(©) (A) & (B) 2TER AD.

(D) (A) 3 (B) 38R 3T,

33. Which of the following is not a gastrointestinal harmone ?
(A) Aldosterone (B) Cholecystokinin
(C) Secretin (D) Gastrin
83 IFNTYNFE 03P WTT IO WO WY ?

(A) @%%mae (B) i?@@@%—ﬂ%%ba@
© 73-:9:)@366 (D) m@ew
Space For Rough Work
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34.

35.

36.

Vacuum packaging, freeze drying and irradiation are examples of technology that impact

the restaurant industry by

(A) increasing the fat content of the food.

(B) 1improving the methods of cooking food.

(C) modernizing the way of delivering food.

(D) extending the shelf life of food.
VWET  TBCRONT, 2T LOTOT DT  VSCRODEHAD' 1Y
VITITTBND, RIINY FRAN0T Beetd EHEE 8 Ded

(A) BT @08 BegRIF

(B) 3590 S0350DTOD RPIORT NPoS

(C) 39T ATWTIV LSTANTTID PO™

(D) QETTITTH 3T9T FRATOINTON WNPIS

DHA stands for
(A) Delta Hexonic Acid
(C) Dihydro oxalic Acid
&.33°.0. HOTT

(A) B, BIRETT &y
(©) @%ﬁ@@ 50T 353

Bile contains
(A) Intrinsic factor
(C) Cholesterol
233259 WITRORTITY T

(A) @oERFRT® O3

(B)
D)

(B)

D)

(B)
(D)

(B)

Dimethyl Hydrochloric Acid

Docosahexonic Acid

BERFRT BLeRLIRDF &
BRINAITINT &

Enzyme

Extrinsic factor

ef30

]
DT AT @03

S0Z e

(©) 3oHTReF (D)
Space For Rough Work
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37.

Breast feeding is not allowed in children with conditions like
(A) Maple-syrup disease (B) Phenylketonuria
(C) Lactose Intolerance (D) Glutenenteropathy
_'gfﬁéw_aﬁ ﬁa'v”f}r? o350 %3053@ RI0TEIIOI ?
(A) STF ATTE BReN (B) &a‘égﬁ%@.%a‘ime@oﬁa
©) @aag@%m@ @%’303&;3@3 (D) MMEITTD0EIBRETY

38. The best indicator to assess undernutrition in Adolescence is
(A) BMI for age (B) Head circumference
(C) Waist circumference (D) Chest circumference
%@%8053(5@ @@%Eé’oﬁa@ 99030 B
(A) ToDRR @RTOETIE .00
(B) 330 —Abg%fé’
(C) Apo8T —A’Dg%fé’
(D) 2BOD —Abg%fé’
39. Emulsifiers are used in
(A) Colloids (B) Emulsions
(C©) Gels (D) Foams
“9@3@2@’05363 Ny VTO3CNRITY) T
(A) @0 TR (B) f&ﬁa%wg
(©) e (D) Fpess,
40. Which of the following is used to make milk microbiologically safe ?
(A) Sterilization (B) Pasteurization
(C) Irradiation (D) Hydrogenation
@@@"&@%@Q ésaan’@od ?’Dd%émﬁdw LVTOSRCART NPT
(A) a’@eﬁac‘ge%’ds@ (B) w—aéegp%’dsa
(C) aBe&odheRTt (D) %:2@@2%3@&36
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41. Chronic kidney disease patients often have to limit the intake of
(A) Protein (B) Fat
(C) Carbohydrate (D) Vitamin A
QeTTERY m%&ocs'@& HOWORAT TREMOOT FTOFHETHE TweAnsd & Fox

BpeRT0BE RemsSonay 3RSRePRI.
(A) Bppiea® (B) eamy,
(C) 33T o (D) Dewa® A

42. Which is not a typical complication of Diabetes Mellitus ?

(A) Apathy (B) Neuropathy

(C) Nephropathy (D) Retinopathy
TDTTCH/ROTT LVOETITLE 03TEY T 2630 3R0TT WY ?

(A) 9T (B) méz?@ea’és

(C) [B3pez (D) Blpe=d

43. COPD stands for
(A) Chronic Obstructive Pancreatic Disease
(B) Chronic Obstructive Pulmonary Disease
(C) Chronic Osteoporotic Disease

(D) Chronic Obstructive Psoriative Disease
2.2..2.8. 2073

(A) BRLT® eﬂ%iea@ T B,03503TF BRCAT

(B) 3RLT® eﬂ%iea@ T,TO BT

(C) 3RLT" WRO3RCHETHLIT® BAUCA®

(D) 3RLaT® eIfs 30a3° Beedosiwe® GRCKT
&8
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44. Statistical test used to determine whether correlation co-efficient is statistically significant
(A) one way analysis of variance
(B) ‘t’ test for independent samples
(C) chi-square test for ontigeacy tables

(D) “t’ test for correlation co-efficient

Hoary 2IFT FVEGOHY IAOTHDT TRERQAODOEF  MEDTITE TN DO

AFE TR POTOIRENTRH T, Soert FE0I0TT.
(A) 08¢ wTOURE 85 BeDoDTE
(B) .0&B0c80e3® AYOBLETN @3&3‘3&
(C) 203233 edeeuermon 287, £of éﬁx; (chi-square test)
(D) FROASTT® FRCRDR0D0EITMIN wéé’xgs

45. Open ended questions provide primarily data.
(A) Confirmatory (B) Quantitative
(C) Promotive (D) Qualitative

33T SBed BTN B5 [0S BT,
(A) BIRTOT0CEID T30S (B) adowéﬁewa@ B30&% 3
©) FpBecess® (D) 5Oe3ee85° TP

46. GM food means
(A) General Major foods (B) General Main foods
(C) General Modified foods (D) Genetically Modified foods
23.00. E3TITNLOTT

(A) BRTE F0eWT® STITND
(B) T 20ex° 30N

(C) wITO ﬁm@@:ﬁ@ ESTOOND
(D) 2¥333d a‘i@@iﬁ STITNIED

Space For Rough Work

20 Home Science



47. Anthropometry is the science of measuring

(A) Height, weight and proportion of the human body.
(B) Weight of the human body.
(C) Height, weight of the human body.
(D) Height and proportion of the body.
ONIIESS BT [RTT DOWOSH 5)25%3 P0o30TY

(A) PIT, 308 D3I FNSIS TV LMD
(B) SIS BB 303
(C) =PIT BB 23T, 3nT

D) 3BT DIT I ADF LMD

48. The fields of Nutritional Genomics is the study of
(A) Genetic variation of the disease.
(B) Dietary effects on inherited disorders.
(C) Diet and life style on genetics.

(D) Dietary effects on gene expression.

SRATOY BeBRCWT?, D02 DYPNE WFONT LFR0BTOTYH
(A) 23635 BedodTS® B¢ & QAT
(B) ®Boe3d 253eEs, | 8 ag0ln® BRTSEETY,
(C) ®Bones® D It B ©F wa® I3,

(D) ®oHEdd DT, | e Wt DTB ST
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49.

50.

S1.

The Chemical composition of wool is
(A) CHO [Carbon, Hydrogen, Oxygen]
(B) CHONS [Carbon, Hydrogen, Oxygen, Nitrogen, Sulphur]
(C) CHON [Carbon, Hydrogen, Oxygen, Nitrogen]
(D) CHN [Carbon, Hydrogen, Nitrogen]
QT YUTROD TIWIODAT WB D

(A) R [ROTHY, BURTT, SeNWIT]
(B) RQWELOTTIRT [Q0M00), BUWTT, LenWRTT, AICRIT, NOFT]
(O) AWLAT® [TV, BORTT, SeNRTT, AICRIT]

(D) ARWERI® [ROTTOW), BWOBRIT, AICKIT]

One Hank is yards.

200T0 @5069 OB O3VTEENLD.
(A) 9000 (B) 1000
(C) 840 (D) 100

Assertion (A) : Weaving is interlacing of two set of yarns.
Reason (R) : Used for making fabrics.
(A) Both (A) and (R) are right. (B) Both (A) and (R) are wrong.
(C) (A)isright, (R)is wrong. (D) (R) is right, (A) is wrong.
a—;’o)@amm’ﬁ (A): ?3033n NOWT NTE RS NY TORT T,
300 (R) : ep_c)asig)ﬁe 305?@6%?053@2 w%g@gd’.
(A) (A) DR (R) TR AD.  (B) (A) 3R (R) 2TER 3F) |

(©) (A)RD (R) P (D) R)FD (A) 3F),
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52. Match List-I with List-I1.

List -1 List - II
a.  Damask L Twill weave
b.  Velvet ii.  Jacquard weave

c. Huckaback iii. Pile weave

d. Drill iv.  Dobby weave
Codes :

a b c d

(A) iv i il i
(B) ii v i il
(C) i i iv il
(D) i il v i

a’égs-l o) a’%—ll BROAN BRODA.

o3 -1 Stk | |
&3 &3
a. Rk, i ger Seod
b. a"e;w? ii. 298 weE £€o§g

c. w#&@mé# iii. ﬁep@ o

d &o° iv.  @ad) 2eant
Todee ¢

(A) iv. m 1 1
B) 1 1v 1 11
© 1 1 v i

D) 1 m i 1
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53.

54.

5S.

Fabrics woven with mixed yarns are dyed by this method :

(A) Skein dyeing (B) Hank dyeing
(C) Cross dyeing (D) Piece dyeing
WD OFRENFE 36053%% @—aé@)#ﬁ%f@l B3 3FTOT DFOIT cgjmcswmgcf
(A) &, 7 cggoon? (B) ®908° cgedoon?
(C) B ngoﬁaorr@ (D) &ex® ngoﬁaorr@
Give the correct sequence for fabrics finishing :
a.  Bleaching b.  Printing
c.  Calendering d.  Scouring
Codes :
(A) a,c,b,d (B) d,a, b, c
(C) b,c,d, a (D) a,d,c,b
2E0P SDROTR RHT BHTFEE Ve,
a.  £)ees® sRTYW b. 0% TIETYW®
c. FPomdond d. Redon®
ToFe :
(A) a,c,b,d (B) d,a, b, c
(C©) b,c,d,a (D) a,d,c,b
Following chemicals used in wet processing are Hazardous :
L AZO compound ii.  Chlorine Bleach
iii.  Hydrogen peroxide iv. Heavy metals like chromium
Codes :
(A) 1,1i, iv are correct. (B) 1iii, ii, 1 are correct.
(C) v, iii, 1 are correct. (D) i, iii, iv are correct.

3033 ROR,THD QHIRRE) B FFTOE TIRNIONAING WHE WTIODNTO.
i AZO 030
ii.  3e0x% et
iii. TR Foog fef
iv. @@6&305303035 QPTG SRCTNED

Toe3 :
(A) 1, ii, iv RO O30T (B) iii, ii, i RO O30T
(C) v, iii, i ROOTRY (D) i, iii, iv RDO330T)
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56. Match List-I with List-I1.

List -1 List - 11
a. Muslin 1. Benaras
b. Patola 1. Gwalior
c.  Chanderi iii.  Gujarat
d. Silk Brocades iv. Dacaa
Codes
a b C d
(A) iv i ii iii
(B) iii v i ii
(© iv ii ii i
D) i v il i
Be3-1 S, Se-11 BRODT BRODY.
Gt | et | |
&3 &3
a. ﬁa%ﬁe 1. WIIOA®
b. Zedpcew ii. TT%@OSJUG
C. 23033¢d . ™R
d. é’eﬁé dRBeEnYy  iv. B
Toe3 :
a b C d
(A) iv i ii iii
(B) iii v i ii
(© iv i ii i
D) i v il i
57. Standard figure is
(A) 10 head (B) 7%2 head
(C) 12 head (D) 8 head
AOBRTE JNT® WOW3
(A) 10 B) 7~
© 12 (D) 8
Space For Rough Work
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58.

59.

60.

Assertion (A) : Commercial patterns are ready to use.

Reason (R) : Available in standard size.
(A) Both (A) and (R) are right.
(B) (A) is right, (R) is wrong.
(C) Both (A) and (R) are wrong.
(D) (R) is wrong, (A) is right.
B30 (A) : meé%s SOTOND BN f%d@mﬁtﬁogd’.

3202 (R) : AoDHNT 8¢30hd BRTHR.
(A) (A) SR R) TEHFD.  (B) (A)FD (R) 3R,

(©) (A) ™R (R) TwR 3x); (D) (R)3FH,(A)=D.

The Ear ornament worn in the Gupta period.
(A) Kundala (B) Stone studs
(C) Kankan (D) Kayabanth
BT THFT LT PORST 30 wJTED

(A) Dor® (B) 3OT TTHMD

(C) 3BozTER (D) BooD0TE

Japanese Traditional costume is
(A) Trouser (B) Kimano
(C) Vasana (D) Uttariya
QI WTINONT TTOTOT YV IR

(A) @TJU@ (B) ds350350¢
) == (D) @VZDO®
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61. Assertion (A) : Clothing needs of the today’s customers has to satisfy cross-cultural
consumer values and needs.

Reason (R) : Customers are all stationed in one fixed place.
(A) (A) is false, (R) is true. (B) Both (A) and (R) are false.
(C) Both(A) and (R) are true. (D) (A) is true, (R) is false.
@%mm’ﬁ A) : @’)23@3 a‘f;@edéﬁa@ NO®IT Tw’o%é’_.goja BRI @o3TF mo—a’w:%f?
ﬁae)én’% SR M,TTO eﬂwéﬁééé’ﬁ%f@l mﬁdﬁﬁeﬁmgd’.
5002 (R) : OB fb@g*’%md NS ,—g’%fn’%fég SS03RDTHTYT.
A (A) 3R, (R)=D. (B) (A) &R (R) QTR 3F) |

(©) (A)=™Z (R)2Tread. (D) (A)=D (R) 3H);

62. Shopper stop could be categorized as
(A) Departmental store (B) Discount store

(C) Mass merchandised store (D) Destination store
TOTOE, AT I, T SWNE CTORWTIOR).

(A) 303 wond

(B) 9031 won&

(C) ANT meéa%ag%’dsa Elelate)
(D) ﬁﬁaémms Cloyate)

63. Colours that lie adjacent to each other on the colour wheel are called

(A) Triad (B) Analogous
(C) Complimentary (D) Monochromatic
ﬁsagzs'g”)d@ TORT @B’&a’ﬁ’&d@&ﬁ wssaan’%f@l 88 0 Eé’oﬁa&@gd’.
A & z° (B) wmdsens®
(C) B20Re00e3d (D) BeRecdeeds®
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64. Give the correct sequence of the steps involved in the Research writing

a.  Research Design

C. Introduction

Codes :
(A) c,a,b,d
(C) d,ab,c

ROBRCTTD WTTAN NG TOBNIY
a.  AOBRCHDD QTR

c. BT
To3CI :

(A) c,a,b,d
(C) d,ab,c

65. Match the following :
List -1

a. The technology oriented media has
come to influence every form of
b. Spoken media

c. Greenhouse gases

d. 5Ps
Codes :

a

A) 1

(B) 2

(©) 4

D) 3
Qv B0

ODvw—iro
2(9
— &

3L

&
&
|

a. B3 32033T BHPIOT FOTHZIY W 1.
CRTNYTY, TRIOVAD

b. 208 DARIAOM
C. AT X AUND

d. 52.9%5°.

To3CI :

a b
(A 1 4
B) 2 1
<) 4 3
D) 3 2

OB WO

OB WO

—_— W N

3OO :

—_—— N

S

Results and Discussion
Summary and Conclusion

a,c,b,d

) ¢,d,a,b
3 BDBFHHBZoHE LS.

OB I w3ese
2005630 D FORTPY

a,c,bd
c,d,a,b
List - 11
1. Radio
2. Communication
3. Commercial marketing
4. NO,, CO,, Methane

a’% -1I
Be&odne

ORI
msé%é mdﬁ:’%
NO,, CO,, 0Fea®
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66.

67.

68.

SEWA a women’s co-operative was started by
(A) ElaBhatt (B) Indira Gandhi

(C) Medha Patkar (D) Stree Shakti

(SEWA) 7% a.wep 5@ 00T ABTIT _‘N)Or_é)oj) T'«:’OW@aw'v”tﬁo

(A) o angs (B) @0QTo mood
(C) =30ege Toe3,0° (D) @) e 3%

Vishaka Judgement 1997 is against
(A) Sex determination
(B) Child marriage
(C) Sexual harassment at work place
(D) Sex ratio
NTo8T 3eRE 1997 o@@d% &dxgmdd%

A Oon =3 (B) ) Ao

© R3 Tg’@d@ @Qpﬁ%’ 3T0Y (D) e3e)pﬁi§ 0TI

The theatre, religious services, dance performances, carnivals, the Kumbh Mela, Ram Lila

and Folk events are examples of

(A) Group communication (B) Interpersonal communication

(C) Focused interaction (D) Unfocused interaction
TOMJRW, TOeNET ROBNYD, ﬁ% TEIER, TRETUINGD, B0yl e, Tae® Oeen,
Y WIDE B,BTE ING0-- QRINDT YVTITTBNED.

(A) ADNRT RODZI B) @oé@eﬁg ROTZD
(C) =o=g @eo@e%@ (D) =oxg @@@o@)@fg)s
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69. Match the following :
List - I List — IT
Principle of Extension 1. Extension, Research and Teaching
b.  Objective of Extension 2. Better family living

c.  Scope of Extension 3. Assist people discover and analyse
their problems

d. Linkages in Extension 4. Interests and needs
Codes :
a b c d
(A 4 3 2 1
B) 3 2 4 1
© 1 2 3 4
D)y 2 3 1 4

ATy Be0BY WSAND :

=y - 1 =y - 11
2. DX 3TN 1. F0S, Bodweps 3 g

b.  &FTme MHOMED 2. U PDODT 2eSS

c. DFTBOH WG 3. =IoR FeodH TRRDID HF B0

Tw’ﬁaf‘%oja@l W08’ DFCAETY T
d. OFTBoD Teolnsd 4. @RS DR eﬂwz’ﬁéﬁé’ﬂ’%

ToFeT :

a b c d
(A 4 3 2 1
(B) 3 2 4 1
© 1 2 3 4
D)y 2 3 1 4
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70.

‘Co-ordination’ in an organization means

L Complete control of the activities of the employee.

ii.  To secure harmony among different units of the organization.

iii.  Removal of conflict and overlapping in the organization.
iv.  Transfer of authority.

Codes :
(A) i, i B) i, iii, ii
(C) i, iii (D) i, ii, iii, iv

ToPURoHY TE BEF, 0TS
i ORREMIRC WE0EEIINY BomRE AoHOZ

i, RoPUROD ADF UMY RS WO, PRI
il RoFRET DIRF U HF FoFLIToD BBFe

iv. ©RTITHE IMCRS
TodeSned :
(A) L1 B) 1i,1iii, il

©) 11,11 D) 1,1, 1, iv

71. The right indicator in a project should

1. berelevant to the project il.  be easily understandable

iii.  be easily measured iv.  provide reliable information
Codes :

(A) 1i,ii (B) ii, iii

(©) i, 1ii,iii, iv (D) i, 1ii, iii

03ReBRonTLIeTIT BOOIRT mzééoéa"odé’
i odeexdIn whresmanNTedesd
. Aoy ePeRTosTe
. HowJzoNn mﬁﬁ'@@ﬁﬁdﬁe'ﬁ
iv. ROWOHT T39S L.ENFLIeDD

Toe3 :
(A) 11 (B) i1, iii
(©) 1, 1i, iii, iv (D) 1,11, iii
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72. N.P.V. stands for

(A) Net Product Value (B) Net Present Value

(C) Net Product Valuation (D) Net Present Valuation
NI 2.0, ROTT

(A) [z T,BE, e (B) Rez® SBFoes® T

(C) is® wEs?T, caenodemad (D) st BRoes® mée)aéo&ee—-sw@

SO hg S I )

73. Match the following :

List -1 List — II

a. Audio Aids 1. Drama, Puppet show
b. Non-Projected Visual Aids ii.  Overhead, Slide projector
c. Projected Visual Aids iii.  Chart, Flash cards
d. Non-Projected Audio-Visual Aids iv. Radio, Tape Recorder
Codes :

a b C d
(A) i ii i iv
B) i i i iv
(©C) i1 it i iv
(D) iv i ii i

BRODX 2BAWD :
o3 -1 w3 -11
&3 &3

a. gs)wé NTFTTLND i o833, Tai.@%d 0023033983
b. Do2TH3 ZSQ)ESQS NDTT AN ii. WE0f RET, WITHJ[UT %d?ﬁ?é
c. o2 ZSQ)ESQS NTFTOLND ill. 3E3E 533_% @52’59 a@fg
d. DodH3 %ﬁé Zﬁoéfas VTITNGY  iv. TeRodnee, @3&3@9@ oﬁaog
TodeS ¢

a b c d
(A) i ii i iv
B) i i i iv
(C) i1 it i iv
(D) iv i ii i

Space For Rough Work

32 Home Science



74.

75.

76.

Calculation of Break Even Point :
(A) BEP = (Sales Revenue/Fixed Cost — Variable Cost) X 100
(B) BEP = (Fixed Cost/Sales Revenue — Variable Cost) X 100
(C) BEP = (Variable Cost/Fixed Cost — Variable Cost) x 100
(D) BEP = (Variable Cost/Fixed Cost — Sales Revenue) x 100
20D W DO (Break Even Point) &33,:30533

A) Do, =@k TBR, / @3EE F97¢ - BedoDw F7) X 100
(B) D =(3E° 98¢ / Aeer, Sadnn, — Sedobwe® 59mF) x 100
(O D.a.d. =(Zedodwes® SoRe, / e SoR, — 2edodert soAf) x 100
(D) D.ad. = (Z[edoHwes® SoRe, / e SoRe, —Rees 6’3&@5) x 100

Harmful effect of over exposure to ultraviolet rays causes

(A) skin cancer (B) palpitation and growth
(C) less fatigue (D) energy output increases
e, 2030033’ FTHONY WSC BATN Bay)TOR BITIONTIO TOHITNWORT
(A) BT ﬁéa”gp@ﬁ’ Sp]e10) (B) Swz &0 ldEean
(C) 3R B3R (D)  JZOH BRATIRTONZON %2,;3%?

Concepts that underpin public health
(A) Non-epidemiology and monitoring
(B) Surveillance and monitoring
(C) Surveillance of schemes

(D) Monitoring of non-population studies
TOWEWT e;?tifa@n’ézﬁ TOTURNT AN, WUBERST.

(A) FRI0TILNTI THT) AMBLTNT

(B) =oQe3 B 3y Arostmbd

(&) a’aa’)efgs-a" 3y odeewdnsd

(D) =IHARTLS LFHOHINY AIMTELIE
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77. EIA stands for

(A) Environmental Impact Assertion
(B) Environmental Impact Aim
(C) Environmental Impression Assessment

(D) Environmental Impact Assessment
B.80.9. VOTWS

(A) @%ma@ 200838 VOTYTE, HOTRD®
(B) @%mﬁ:ﬁao@s@f VOTYTE, DH°

©) @%msezﬁ:oés@f DOB T AR 00T
(D) QQDIRTR0LIE VOTYTE, IRAT 00T

78. Match the following :

List -1

List - II

a. Personnel Administration 1. Calendar of events

b.  Organisation 2. Preservice, in service

c. Training 3. Line staff

d. Programme planning 4. Recruitment of extension workers
Codes :

a b C d
A 1 3 4 2
B) 4 3 2 1
< 3 2 1 4
D) 4 3 1 2
BRODR 2BAWD :
o—o’% -1 g—o’é..a -1I

a. a‘;;ﬁaﬁé (Sl . TO&ET ﬁe%w@g

b. =0T 2. RETOTPWE ?Dé_% 7'365053@ SRBATHTI

c. 3T 3. TBeamw 22,08

d.  BoODEFTENE SRy 4. IFTHD ALY 0DOD FeeNT
TodeT ¢

a b C d
A 1 3 4 2
B) 4 3 2 1
< 3 2 1 4
(D) 4 3 1 2
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79. Sources of Research Problems are
L Conflicts and suggestions
ii.  Personal experiences
iii.  Professional literature and contacts
iv.  Classrooms and schools

Codes :
(A) i, i B) i, iii
(©) i, ii, iii (D) i, ii, iii, iv

FHoZReFT BIRNY $8TB3003
L RoFRensd 0B FUIBND
i SpH3T wI[MD
iil. ;gg Elnpleic] mao% SNB WOTFE
iv. ITNENL DI S

Toe3 :
(A) 11 (B) i1, iii
(©) 1,1i,1ii1 (D) 1, 1ii, i, iv

80. Assertion (A) : Pilot study is a full fledged miniature and a small scale replica of the main
study.

Reason (R) : It covers the entire process of Research preparation of a broad plan of the
study, construction of tool, collection, processing and analysis of data.

(A) (A)istrue and (R) is false. (B) Both (A) and (R) are true.
(C) Both (A) and (R) are false. (D) (A) is false and (R) is true.

a—;’o)@ama’ﬁ A) : ﬁ@e%cﬁg @ESZSOSDRS@"OZSZS’, m% eﬂqﬁéojasd TOFEIE T STRT 0
AEQ BEecer T30,

0% (R) : amd «FodIT 7,8 OSReRS, ROBRCTI0 %d@a"oﬁa TPEE TS0
@’)@oﬁa TINR TOFING TUR, RON®, T-«J’of—w’&ds‘a" N TSYoIT é’)ﬁee—-is@".
(A) (A)=D FR (R) 3 (B) (A) &= (R) wTwew =O.
(©) (A) DR (R) TwR 3P; (D) (A) 3P, =0 (R) =0,
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81. The study of body language is known as
(A) Kinesics (B) Gestures
(C) Non-verbal (D) Expressions
D90eDT {IOROD @qﬁéojaﬁﬁaigl &ent Eé’oﬁa@aﬁaga".

(A) a3, (B) 50T,
(C) Donfmeres (D) HFBHEE,

82. In the rural rector the responsibility of primary education lies with
(A) Gram Panchayat/District Council
(B) District Council/Non-Government Organisations
(C) Co-operative Societies/Government Organisations
(D) Central/State Governments
MWL WUODTE T,FWT BT €973 WLV 0P0TT

(A) TR Soesdld / ey Y
(B) ep P /ReorTe3T Hogeddnsd
(C) RBFIT BoFneh / BEoed BoFeIdned

(D) 3eog,/ To%s, HTOE TN

83. The role of Co-ordinator in a Satellite programme is
(A) Time consuming (B) Expensive
(C) Crucial (D) Difficult
POTM T FIONE FFNTE) B0WWIT TZP0TT

(A) FDOHT WS (B) @00
(C) AmITODT (D) 3F
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84. Overcoming noise is the key component in

(A)
©

Aristotle Model (B) Berlo Model
Shanon and Weaver Model (D) Lasswell’s Model

BUOOT BRTLTIE AFIS, RET 08y TPTD

(A)
(B)
©
(D)

WOREIUT &0

SRee TPTO

TWOTI® TN NETT® TP
AL [T, SO

85. Which of the following scenarios in a kindergarten class would best support Lev

Vygotsky’s social constructivist theory of learning ?

(A)

(B)

©
D)

Two children at the games table work on identical puzzles independently
without interacting.

One child watches another child dump out a setoff puzzle pieces and arrange
them by size.

Two children at the table-toy area work side by side on different puzzles.

One child watches another child rotate a puzzle piece to fit a space and then tries
out the same strategy.

0BT TRUED® ITNB03ROTT FINT o3P BYVeBMed Ta® FPEIFoD AeekoDe?
T34, 9%, 3OT0H ATR0TT, HVFIN PETORIE ?

(A)

(B)

©

D)

BT 0BT eS 20Te ITBT BWRUTNARTS OF0YTC  20BININUT
B2\ B, FBOZFN FUR BRRIDHH .

2,00 TTH BRRYOT TTVEY TRUENY ReI'T BATONTY, RO WYNITY
33, @RTHmN 2BRCATRH IR, NEIDIT,

230023 E3INY WINTY AT B JE,T/F,TO VPF THROTNINES SUA
ST .

2.0 VY VRRET TN TRUFT BRTROTRY, BET m@ﬁzﬁ@ ANFED
ITHNL QTR MeHAX TR 953 BRTHIY, TODI, ST,
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86.

87.

88.

In learning disabilities, the name for Mathematical disorder is

(A) Dyspraxia (B) Dyslexia

(C) Dyscalculia (D) Dysphasia
30T R’)J%ﬁé’ﬂ’@@, ness méﬁé’ﬁ QT BT

(A) GARTTZOIP (B) &=TSE03?w

© @ﬂ@i@eﬁa@é% (D) &FBeR03

A four year old child has difficulty in sharing toys, taking turns and initiating play during
centre time. Which of the following observational assessment tools would likely be the
preschool teacher’s best choice for collecting data on how often the child demonstrates the
targeted behaviour ?

(A) Event sampling (B) Skills checklist

(C) Rating scale (D) Running record
oD, B[RET ﬁ)ﬁb@",@odé’& BT HDODTE) e;?é%@h’%f@l Soa%é’@%@a, CI zoan
TOODED TVITY 33T GapYelet ATV E%ﬁdﬁbﬁogd’. &S TR oDe_:% 200 ANAS
33?30533& BRCTERRTE Do [HE HOMGALL B3 IR QERTOT 035
VTBSRETT TOBCVTD AT L2y TIUOTPTE BT, $03 WZTD 03,030 ?

(A) @z30E3® TIOLHoN® (B) @5@57\’%3 336 é’)ﬁi
(C) Teedon® Fees® (D) TRoEn® BGfe

Which of the following would most likely be an indicator of atypical motor development in
a three and a half year old child ?

(A) The child is unable to skip across the room.

(B) The child cannot throw a rubber ball overhand.

(C) The child is unable to build a tower of eight blocks.

(D) The child cannot walk downstairs using alternating feet.
SRTRTT SODAT ﬁaﬁaé’j@odo’@ mms@gw ROWBOT0 NTIRD AHWTNCD 83

3YNS oY TE, €08 TGS Al ?
(A) Oy 3ATRODH BNUF, B0LELL MFDYSE ATHITD.
(B) MOy TeYO® 2RO f?&pia@l RSB HRODED BTTE ATIIY.
(C) MY QoD LRTINY 2,000 L3e30° TWAWD mzséé’)gd’e B .
(D) >y a‘b%@aﬁ%’@l QP OINTIN L.0TLOTE £z§ VTO3RCATTRE ATV .
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89. Which theory would be best to consider if you wanted to understand how and why children

copy the behaviours they see in TV cartoons ?
(A) Skinner’s behaviourism
(B) Piaget’s cognitive theory
(C) Erikson’s psychosocial stages
(D) Bandura and Mischel’s social cognitive theory.

BRATTBERE FTRINEDINY TTEBONTY, eT,H0 TN 2B DT TTORTIT 0T Y
Sl m@&a%ﬁe'@o@d@é’ o3 %w{gosws& TOMEB/TT Ve ?

(A) 2,503 DIBeR020F0
(B) 0390 TN 208
(C) RNDFTTAITT DOIRCHITINGIT TOSNH

(D) 200BAT 0T WRUTE BRI TN 208

90. Differences in families, neighbourhoods, cultures and even time periods affect development.

This statement supports Baltes’ assertion that development is

(A) Contextual (B) Multi-dimensional

(C) Multi-directional (D) Plastic
BEDOWNY, ITBNRTNY, _A)’O_A;’w:%ﬁ%f NF ToRIHPNY &@@é’ﬁ% QNIIRT 2063
JOBmOTD @edagﬁ. 3 BePIOIN mé’%@xﬁ‘s NTIAY Q02 %@eézﬁs&d@l
EWON AR

(A) @oé@ﬁi&i@oﬁa@e (B) ﬁaé’gs-cgﬁa%ﬁeﬁ

© ﬁaé’% 6353’%3@9 (D) mﬁ%s#
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91. Contrary to the view held centuries ago, today we believe that

(A) Children are miniature adults.
(B) Childhood is an unique and important period in life.
(C) Children ought to be treated as small adults in need of training but little else.

(D) Children are autonomous and may be expected to grow and develop with very

little parental support.
SZ=ING 03 AZOZTH %%@@6’33& 3%&%3@?\ D0TH FTY Soert ToznIeas.

(A) T, 233, TRIT SOIF,TO
(B) m@a@) OWNTI WO é’)éa’émcﬁ Y m%md Ena)
(C) =BIR 3T3e 80 eﬂwesééé’oﬁadaw 83, T wosa—a’&som JONeImedes.

(D) SHZWH FYOPIZOINYTH DY WTT  JPeRIO0T  wIoZ IR
2300R0TUR T P DTIR BROTNTYT QOTIRLITIT.

92. A growth chart has the potential use as
(A) Growth Monitoring (B)  Diagnostic Testing
(C) Planning and Policy Making (D)  All of the above
ST OD 23T EA0T WS wuTodeen

(A) 23dodrion euRymed
(B) 3ToRmo (&@@ﬁ@%@% ROWORIT) a’@e%
(C) 3RS HTY ToODE LSO T

(D) B20eOT DY
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93.

9.

Four year-old Meena draws a picture of a girl. She then writes the letter M all around the
edges of the paper remarking, “This is my name. It says Meena”. This behaviour suggests
that Meena has attained some understanding of

(A) the function of print (B) how to decode words

(C) the alphabetic principle (D)  how to track print
TOLR, THRET WCTD WO TVTNOD WS, DEFhZY. ToT wTW & FTNTT WosS

Zun M ¢TSI WO B IF BAS. AW VT 0T TEHIT RIS,
BEF030 T B3 IFNT OIRPY TR, IF,0EIN WTE 0RZR0RTY 0T RRRIE ?
(A) 20TANROD ToONE
(B) T[T R0oZeIS SEHT BN
(C) w3one 33,
(D) 2TEEITOD 3% SBEROINVTHT

What would be the correct sequence in a child growth ?

1. Ability to walk

ii.  Ability to run, slide, climb, hop etc.

iii.  Ability of reach

iv.  Ability to grasp and manipulate an object with his fingers.

Codes :
(A) i, 1i, iii, iv (B) i, ii, iv, i
(C) iii, iv, i, ii (D) v, iii, ii, i

200 O WIIAToHE oI T FOOINT FHPHNE ?

i ST M

i DS, 290HE, B, BT AT T

i, 2593 (FOBR) WDFE

V. HBOMT DI BRFPOTY, LOHNERES HFLIRT LRIV WRFE

)
Toe3 :
(A) 1, 1i, iii, iv (B) i, iii, iv, 1
(C) iii, iv, 1, il (D) v, iii, ii, 1
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95. The workers at the village level who deliver the services in ICDS are called
(A) Dais
(B) Anganwadi workers
(C) Child Development Project Officers
(D) Nutritionists
%%ﬂ’%ﬁ ﬁaé&d@ DARIRE 3"3@&"7’\’%3@[ T FTIONETTETY 3oert FC0INTIT.

(A) TORNH
(B) ©@oNIzo& To0NETIEDTV
©) zé’e}z:rg BBOT 30037 m\ﬁa’; SRS,

(D) e3390 @%Eé’oﬁa 32%63

96. Which theory believes there are sensitive periods of Development ?
(A) Ethological theory
(B) Ecological theory
(C) Behavioural theory
(D) Social cognition theory
DITIRT ?L@'U; & WBONDT Q0T 0393 %m@oéd@ SoDIANT ?
(A) ABRUBIUE A53208
(B) @dnwnsest apleks

(C) DIenodneTer apleks

(D) ReeA0H® FNTT 23208
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97.

98.

In a typical sequence of socio-emotional development in infants, which of the following
behaviours generally appears first ?

(A) Initiation of play (B) Stranger anxiety

(C) Reciprocal smile (D) Separation anxiety
AN O OOV T-LITWTIT, T DTIAT ZRRNS0DY &3 FFNT 03T SSEIND
AOTITEN BRTELD FRRZRHRZS ?

(A) aQr0deTTT et Fe (B) —3‘; €02T® eory B
(C) SaFPpeser 4 of (D) AZTem® wory £8

When an individual with multiple cognitive disabilities have extraordinary proficiency in
one isolated skill, this is known as

(A) Rainman syndrome
(B) Asperger ability
(C) Intellectual isolation

(D) Savant Syndrome

230 20T WIFINHY, ) [N T BTOZ03R0TTY AR, TSN
3ert FT0INTYT.

(A) Fpo3on? RoBRL®
(B) &R0 R0 DS
(©) f&o&ﬁ@&gﬂoﬁaeﬁ BOENON SIS

(D) =e30e3" R0BRLTT
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99. Which of the following actions by an early childhood teacher would likely be most effective

in fostening the moral development of young children ?

(A) Involving the children in creating specific behaviour rules for each area of the

school and classroom.

(B) Helping the children understand how their actions may affect others and

consistently modeling caring and equity.

(C) Establishing a set of clear behaviour rules at the beginning of the year and

applying consequences without exception.

(D) Awarding a prize each Friday to the child who has been most co-operative

during the course of the week.
TR JRRE é'c;%oia o3ne 3odndon HEY WORAT ﬁaéﬁ%@ %%B’ NTIRDIR :%@Tw’@a

OB FOOIPATIIS ?

(A) STHBOD DI TIod BB0deom YRNER, B IEHIE0H ALY
Te3HeD B,I FDRIRNI .
(B) 3, $,0HNP0T eS0T hedd erHi TOBT BOOHLd FHEHR FEoD

TRERY T TN FoYR ToTe ACB0H RIS BTIER.

(C) S=eTOITO AFT SEZDZOD AODTONY 2,000 TITOONTY, VL9 AR

9T PYOTIR W CWRDHOT BRCRIDND.

(D) a&e ZoTd V303 ABTITOINS 5565’5@%90533%:) TN &8 ZFFTT 2,0

WBTIE BT
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100. Match and choose the toys for various age groups.

Column - I
For the baby
2. For one year old

[

kW

For two year old
For three year old
For four and five year old

6. For all ages

Codes :

(A)
(B)
©
(D)

1
d
d

e
f

O = O = N

o » oW

[l o e S @I N

Column - II

a. Small stout wagons, trains, picture books.

b. Building blocks, construction toys, jigsaw
puzzles, books, painting equipment.

c.  Musical instrument, model cars, aeroplanes.

d. Rattle or a knitted ball, hang toys.

e. Soft washable toys, rubber dolls and
animals.

f.  Low ladders, swings, real tool boxes etc.

o0 O o W
[oNe ul ¢ Mo

a

DOF TOHYF 7D SLIERVRY @0k, TG BB WSRO

Column -1

1. =N

2. WO DRED
oMOAN

3. Q0@ JTHET
MO

4. DAL IRED
MO

5. TR, WY QO
SRETTON

6. DY TONYTZONR

Todesnehs ¢

(A)
(B)
©
(D)

-0 o o=

O - O = DN

o » oW

o oo B~

Column - I
BT,  TIIT masn’w@n’%, 6:}2)37\'%, WSO
CETats
Dot epTE,  IIWIRT wedned,  *nTEe
TROIND, FRIND, 2eot3on® @@ AION,NGD
ToNeSw mzﬁén’%fo, pleSN TOTOND,
DBRCTEITNT
NUS WP BT Bom, I0SET
e3833Med
ﬁg)zﬁamcﬁ BRPONWTVTIT  E3FNYH, TWTE
RR02INGD TNTY TN

SN QEIND, emomé@ﬂ’%, BRO® LPTINE BIYH

o0 O o W
® O c o0 N
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